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1. Find the vertically opposite angles in the given figure
n

(i) £1,45;42,L6;L3,L7;L4,,L8 (i) £3,46; 44,5 (iii) £1,44;L2,.L3;L5,48;L6,L7

(iv) £1,48;£2,L7 (v) £L3,45;L4,L6

2. Find the value of 'x'
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(i) 69° (ii) 94° (iii) 74° (iv) 64° (v) 79°



3. In the given figure | | m. Find the value of 't'
n

(i) 11 (i) 13 (i) 9 (iv) 7 (v) 10

4. In the given figure, k,1, m,n, o, p arelines in a plane. By looking at the figure, which of the following are true?

a) ois the transversal ofm&n
b) nis the transversal of k&I
c) k|

d) k[In

e) pis the transversal of m&k

f) kis the transversal ofm&o

k |

(i) {d,a} (i) {d,e,a} (iii) {a,b,c,e} (iv) {d,fc} (v) {f,b}



5. Find the exterior alternate angles in the given figure
n

(i) £1,£8; 42,47 (i) £Y,42,L7,48 (iii) £1,45;42,.46; L3,L7;.L4,.8

(iv) £3,45; 44,46 (v) L1 ,42;L2,L4;L4,L3;L3,L);L5,L6;L6,48;.L8,L7;L7,L.L5

6. In the given figure | | m. Find the value of 'z'
n
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(i) 14 (ii) 17 (i) 11 (iv) 15 (v) 13



7. Find the co-interior angles in the given figure
n

(i) £3,44,45,46 (i) £3,45; L4, L6
(i) 41 ,42;£2,L4;L4,L3;L3,L);L5,L6;L6,48;.L8,L7;L7,.L5 (iv) L1,L8;L2,L7

(v) £1,45;42,L6;L3,L7;L4,.8

8. In the given figure | | m. Find the value of 'z'
n

43°

(i) 11 (ii) 10 (iii)) 12 (iv) 14 (v) 13

9. In the given figure | | m. Find the value of 'z'
n

6z+2
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(i) 11 (ii) 10 (iii)) 12 (iv) 8 (v) 13



10. In the given figurel | m. Find the value of 's'

n
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(i) 80° (ii) 50° (iii) 60° (iv) 65° (v) 55°

11. In the given figure | | m. Find the value of 'y’
n

6y+3

9y-3

(i) 13 (ii) 12 (i) 9 (iv) 14 (v) 11
12. In the following figure GH || JI, find the values of x and y.
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(i) x=56°,y=68° (ii) x=55°,y=67° (iii) x=54°,y=66° (iv) x=58°,y=70° (v) x=57°,y=69°



13. In the given figure, JK | LM and JL = LN. Find the values of x,y and z.
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(i) x=32°,y=60°,2=58° (ii) x=30°,y=60°,z=60° (i) x=28°,y=60°2=62° (iv) x=30°y=58°,2=62°
(v) x=28°,y=62°2=60°

14. Which of the given figures is wrong?
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15. Which of the following are true with respect to lines m,n,o,p where m|n,nlo,0lp?

a)nlp
b) mLp
c) mfp
d) m|o
e)ofp

(i) {a,c} (ii) {d,c,a} (i) {d,c} (iv) {eb,a} (v) {b,a}



16. In the given figure, it is given that ED || GF , ZEGF = 48° and £LEDC = 102°. Find the value of x.
G
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(i) x=32° (ii) x=28° (iii) x=30° (iv) x=31° (v) x=29°

17. If I || m, which of the given figures is correct?
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18. Which of the following are true for corresponding angles?

a) They are on either side of the transversal

b) They are not adjacent angles

c) They are on the same side of the transversal

d) One is interior angle and the other is exterior angle
e) They are adjacent angles

f) Both are interior angles

(i) {b,c,d} (i) {f,a,d} (i) {e,c} (iv) {a,b} (v) {eb,c}



19. In the given figure, OP | QR, ZKHP = 64° and HI = JH. Find the measure of x.
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(i) x=53° (ii) x=50° (iii) x=52° (iv) x=54° (v) x=51°

20. In the given figure | | m. Find the value of 'z'
0
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(i) 84° (ii) 54° (iii) 64° (iv) 59° (v) 69°



21. Find the interior angles in the given figure
n

(i) £1,42;42,L4;L4,L3;/L3,L1;/L5,.L6;L6,L8;.L8,.L7;L.L7,L.L5
(i) £1,45;£2,46; 43,47 ;L4,L8 (iii) £3,44,L5,L6 (iv) £L1,42,L7, L8

(v) £1,44;L2,.L3;L5,48;.L6,L7

22. In which of the figures given bellow, | || m?
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In the adjoining figure, NOPQis a parallelogram andRSis such that RS || NP

If ZNQR = 22.76°and £PQS = 37.41°,find the measure of ZNOP.
S
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(i) 118.83° (ii) 117.83° (iii) 119.83° (iv) 121.83° (v) 120.83°

24. In which of the figures given bellow, | } m(not parallel)?
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25. Find the interior alternate angles in the given figure

(i) £1,44;L2,L3;L5,.L8;.L6,L7
(i) £1,242;42,44;L4,L3;L3,L1;/L5,L6;L6,.L8;.L8,L7;L7,.L5 (i) £1,4L2,L7,.8

(iv) £1,48;£2,L7 (v) £L3,46;L4,L/,5



Assignment Key

1) (iii) 2) (iv) 3) (v) 4) (iii) 5) (i) 6) (i)
7) (ii) 8) (iii) 9) (i) 10) (ii) 11) (ii) 12) (i)
13) (ii) 14) (iv) 15) (i) 16) (iii) 17) (i) 18) (i)
19) (iii) 20) (ii) 21) (iii) 22) (ii) 23) (iii) 24) (i)
25) (v)
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